



Nimi: \_\_\_\_\_

Päivämäärä: \_\_\_\_\_ Pisteet: \_\_\_\_\_

$$\left(\frac{2}{5} - \left(\frac{2}{5}\right)^2\right) \times \frac{1}{5} - \left(\frac{1}{4} + \frac{1}{3}\right)^2 =$$

$$\left(4 - \frac{1}{3}\right)^2 - \frac{1}{3} + \frac{1}{6} \times 3^2 =$$

$$\left(\left(\frac{3}{5}\right)^2 + \frac{1}{2}\right) \times \frac{3}{5} + \left(\frac{1}{2} - \frac{2}{5}\right)^2 =$$

$$\left(5 + \frac{3}{4}\right)^2 - \frac{3}{4} \times \frac{1}{2} + 2^2 =$$

$$\left(\frac{3}{5} + \left(\frac{3}{5}\right)^2\right) \times \frac{1}{2} - \left(\frac{1}{2} - \frac{3}{2}\right)^2 =$$

$$\left(\frac{1}{2} + \frac{1}{6}\right)^2 + \frac{2}{5}\left(\frac{1}{2} + \frac{3}{2}\right) =$$

$$\left(4 + \frac{1}{2}\right)^2 - \frac{3}{5} + 3^2 + \frac{1}{2} =$$

$$\left(5 - \frac{1}{3}\right)^2 + \frac{1}{2} + \frac{1}{2} - 4^2 =$$

$$\left(4 + \frac{2}{3}\right)^2 + \frac{3}{2} + \frac{1}{2} \times 3^2 =$$

$$\left(\frac{1}{3} + \left(\frac{1}{4}\right)^2\right) \times \frac{1}{3} + \left(\frac{1}{6} + \frac{1}{3}\right)^2 =$$



Nimi: \_\_\_\_\_

Päivämäärä: \_\_\_\_\_ Pisteet: \_\_\_\_\_

$$\left(\frac{2}{5} - \left(\frac{2}{5}\right)^2\right) \times \frac{1}{5} - \left(\frac{1}{4} + \frac{1}{3}\right)^2 = \left(-\frac{5261}{18000}\right)$$

$$\left(4 - \frac{1}{3}\right)^2 - \frac{1}{3} + \frac{1}{6} \times 3^2 = \frac{263}{18} = 14\frac{11}{18}$$

$$\left(\left(\frac{3}{5}\right)^2 + \frac{1}{2}\right) \times \frac{3}{5} + \left(\frac{1}{2} - \frac{2}{5}\right)^2 = \frac{263}{500}$$

$$\left(5 + \frac{3}{4}\right)^2 - \frac{3}{4} \times \frac{1}{2} + 2^2 = \frac{587}{16} = 36\frac{11}{16}$$

$$\left(\frac{3}{5} + \left(\frac{3}{5}\right)^2\right) \times \frac{1}{2} - \left(\frac{1}{2} - \frac{3}{2}\right)^2 = \left(-\frac{13}{25}\right)$$

$$\left(\frac{1}{2} + \frac{1}{6}\right)^2 + \frac{2}{5}\left(\frac{1}{2} + \frac{3}{2}\right) = \frac{56}{45} = 1\frac{11}{45}$$

$$\left(4 + \frac{1}{2}\right)^2 - \frac{3}{5} + 3^2 + \frac{1}{2} = \frac{583}{20} = 29\frac{3}{20}$$

$$\left(5 - \frac{1}{3}\right)^2 + \frac{1}{2} + \frac{1}{2} - 4^2 = \frac{61}{9} = 6\frac{7}{9}$$

$$\left(4 + \frac{2}{3}\right)^2 + \frac{3}{2} + \frac{1}{2} \times 3^2 = \frac{250}{9} = 27\frac{7}{9}$$

$$\left(\frac{1}{3} + \left(\frac{1}{4}\right)^2\right) \times \frac{1}{3} + \left(\frac{1}{6} + \frac{1}{3}\right)^2 = \frac{55}{144}$$